790 Adventure R Rally 2020 <2020><EU><F9603T4>

FRONT FORK, TRIPLE CLAMP

Pos Part Number Description Additional Text Quantity
1 1418251001 Fork KTM 790 Adventure R 19 1.00
2 0025080206 HH collar screw M8x20 SELF-LOCKING 4.00
3 0025080256 HH collar screw M8x25 4.00
4 7720103800030 HANDLEBAR CLAMP 28MM 2.00
5 0032100356S AH-COLLAR SCREW M10X35 ISA45 2.00
6 5940103903230 HANDLEBAR SUPPORT D=28 H=32 BL 2.00
7 63501045010 Ignition lock cover 1.00
8 6900103600033 Steering head screw 1.00
9 0988253505 thrust wash DIN0988-25x35x0,5 1.00
10 0015080256S HH COLLAR SCREW M8X25 WS=10 1.00

54013



11 0025080306 HH collar screw M8x30 4.00
12 6350103403030S Top triple clamp 1.00
13 69001084100 Stearing head gasket 2.00
14 69001181000 STEERINGHEAD KPL.17 2.00
15 69001086100 PROT. RING STEER. HEAD BEARING 1.00
16 6350103203030S Bottom triple clamp cmpl. 1.00
17 0025080356 HH collar screw M8x35 TX40 4.00
18 69001181010 Stearing head rep. Kit 0.00
19 0025060166 HH collar screw M6x16 TX30 4.00
21 0025080256S HH COLLAR SCREW M8X25 TX40 3.00
22 16181S55E Steering damper790 Adventure ¢ 1.00
23 63501070000 Clamp brake hose 2.00
24 0985050003 Self locking nut DIN 985 M5 2.00
25 0025050206 HH collar screw M5x20 TX30 2.00
26 63511066010 Ignition lock cover 1.00
27 60708025030 Special screw M5x17 TX30 2.00
28 69008021060 special screw M5x17 4.00
29 63501094000ABA Fork Protection Kit 790 Advent 1.00




